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G3-3

Bfig) | JEBATK (7)) | ERE (A | KR R

08:05 56 30.0 |Z=| {Ri%e08:05 Bz (KREAEZEHE)
09:40 56 30.0 |Z=| 1Ri%e09:40 Bzl (REEZERSE)
11:20 56 30.0 |Z=| {Rig%e11:20 Bz (REEZEBE)
13:05 56 30.0 | 1Ri&e13:05 B (KAL)
14:50 56 30.0 5| 1RiRe@14:50 B35 (REAEES)
Bit| 280.0 (5'%) 150. 0 3 HKEC: 2343.0, PH: 6.5

FEXRERIPH (10.26) H5i&%EPH (6.5) REIRK, HHRE
BEXREBIPH (10.26) 5FMPH (6.5) REK K, HRE
BERESIEC (2047.0) H5i%EEC (2466.0) HEILKA, BFHT
BEREBIEC (2047.0) 5FMEC (3079.0) WEKK, mh§
FURGEIEC (1890.0) LR E{E (2340.0) REK K, BT,
FURGEREC (1890.0) HiEBIEIY (2343.0) REK K, HHRE.
LRGEBIPH (10.1) 5i&8FEE (6.5) REKK, BFRE.
LORGEBIPH (10.1) S5#AIEN (6.5) REKK, BRE.
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400
e e e 0 0 U S ES
Bb VE3ERV, ET - VI, VO, FVI, EVO, FRV, ad jFRV, ET
- 300 ~
_ |
20 210 21%)8 °
141 P 200 &
_ >
10 97 L 100 &
I Warning: lcol [FVI',| "FVO’] missing 3I9
0 = 66
_ VI —— ME #
T 40 7 maxM | 2°
+
C
S0 f———mmm R & B A ] L 54
o I '-”l
E 20 - 53
I i I
1.0 51
"
0.8 -
0.6 -
0.4
0.2
Warning: lcol ["WC1',| "WC2'] missing
0.0
2500 4 TargetEC=2500. 0, TargetSetEC=2343.0 t
2250 | N N N N N N
2000 -
'Y ° L
—¢  ECB*10% °
1750 -
® ECC
°
o o o
10 TargetPH=6.5, TargetSetPH=6.5 ® e —>—  PHB*10%
® PHC
8 -
6 -

o
o
1
=

Bylni:t @11 01:32: ET=114 Fg=90.0 Ro=2.0

2 . i
& 60 |
Q |
T . :
< 40 1
= : —@ ® 4 J
20 - : e—eo oo |
(NN}

P o——& \ 4 —0—

el o V' W 3 PN

88— 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
o~ = | M |k |5 [ |5 | B5 | 5 | 5 | s | B | s | B [R5 | B [R5 | B [R5 | BF [R5 | A5 [R5 | 5 | BR
c | 1
S 801 ByEt @D9 18:38: ET=220 Fg=180.0 Ro=nan !

N
%40— : i
E 1
20 - i i
(NN}
b—e—eo o o o o - ey
P PG G S G —

88— 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
o~ Z=z| W | B | BB [ B || B 2525252522 B | B [ B | B [KB | BB | B | B|B|H
< | 1
= %07 ByWoRv @11 01:32: ET=156 Fg=150.0 Ro=4.0
N
< 40 : ————© i
= ! o o o o & o
~—~ I
_ 20 : |
(NN}

b—e—+eo—o o oo I D
1.0 ol o o o
0 1 2 3 4 5 6 7 8 9 10 1 12 13 14 15 16 17 18 19 20 21 22 23

s lZE | W | B | W% | AW (22122122 122127122| % | % | & | % | % | & % | & | % | %%
0.6 A
0.4 +
0.2
0.0

—_— 4

1000 4 [ ) | _obs

500 -

30 4

25 -

—@— PPFD_obs

20 A

15

80

60

RH
[ ] RH_obs
RHo obs

- N wW
o o o
o o o

o

- N wW
o o o
o o o

cumET (ml/plant)

o

wW
o
o

cumET (ml/plant)

N
o
o

—_
o
o

cumET (ml/plant)
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23t 224.0 (4%) 120.0 32 KEC: 2375.0, PH: 6.5
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LERGERPH (10.3) SiRBIE (6.5) RERK, BRE.
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m=305, FV0=0 m=380, FV0=0 m=545, FV0=0
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15:55 85 30.0 5| {Ri%e15:55 F1 CGREAMEEE)
23t 510.0 (6%) 180. 0 #23#H®EC: 2850.0, PH: 6.5

EIREBRITHC R IR ELZ N (85 vs 56.0))

ZRIASLPRIERE46. 0 ml.

REXFEBIPH (10.34) 5i&%EPH (6.5) RERK, FHRE
REXEBPH (10.34) 5FMPH (6.5) REKKA, BFHRE
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EREBPH (10.4) S5REGZY (6.5 RERK, FEE.
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